Lesson 5.2.1 Assignment

5-65. Determine the exact x-intercepts of y = (x + 4)2—7. Homework Help &
a. What are the approximate x-intercepts? Sketch a graph of the parabola. (Hint: Use
Desmos Graphing Calculator)

c. What are the coordinates of the vertex of the parabola? Is your answer exact or approximate?

5-66. Gabi is helping her friend Joaquin create a square tile design in his backyard. Joaquin has
one large square tile that is no longer being manufactured. He also has eight rectangular tiles that
have the same side length as the large tile, and one small square tile that has the same width as
the rectangular tiles. Gabi gets her algebra tiles to model the situation. How many small square
tiles does Joaquin need to buy to complete a square tile design? 5-66 HW eTool (CPM).
Homework Help & (Please insert a picture of the completed square)
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https://homework.cpm.org/category/CCI_CT/textbook/int2/chapter/5/lesson/5.2.1/problem/5-65
https://technology.cpm.org/general/tiles/?tiledata=aJINT2%205-66%20HW%20eTool__5-66.%20Gabi%20is%20helping%20her%20friend%20Joaquin%20create%20a%20square%20tile%20design%20in%20his%20backyard.%20%20Joaquin%20has%20one%20large%20square%20tile%20that%20is%20no%20longer%20being%20manufactured.%20%20He%20also%20has%20eight%20rectangular%20tiles%20that%20have%20the%20same%20side%20length%20as%20the%20large%20tile%2C%20and%20one%20small%20square%20tile%20that%20has%20the%20same%20width%20as%20the%20rectangular%20tiles.%20%20Gabi%20gets%20her%20algebra%20tiles%20to%20model%20the%20situation.%20%20How%20many%20small%20square%20tiles%20does%20Joaquin%20need%20to%20buy%20to%20complete%20a%20square%20tile%20design%3F__cWa2x__boy__aabsnseabq0plabpWp5aaqBqYaarnrqaatRpOaavlp0aauCqpauuur9aer2p6
https://homework.cpm.org/category/CCI_CT/textbook/int2/chapter/5/lesson/5.2.1/problem/5-66

5-68. Rewrite the following expressions in simplified radical form. Homework Help *,

2./3-1/6 b. 2/27-5¢/3 ¢. /516

Homework Help &

Additional Practice: Please solve the following perfect square equations.

a (x —3)° =64 b. (2x — 1)° =0



https://homework.cpm.org/category/CCI_CT/textbook/int2/chapter/5/lesson/5.2.1/problem/5-68?_gl=1*1hn8edy*_ga*MTYxMzIyMDg1LjE2MTc5ODAyMDE.*_ga_4L9RDK6H3D*MTcwNjI5NTI5NS43NC4xLjE3MDYyOTY2MzIuMC4wLjA.




